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QUESTION 1

When a Vocera badge performs a broadcast call in a properly configured VoWLAN using WLC v7.0, which two choices
indicate how theQoS is marked? (Choose two.) 

A. Upstream marked as Best Effort. 

B. Upstream marked as ToS CS4. 

C. Upstream marked as DSCP EF. 

D. Downstream marked as DSCP EF. 

E. Downstream marked as Best Effort. 

F. Downstream marked as Silver. 

Correct Answer: CE 

 

 

QUESTION 2

A customer is concerned that the mesh network will not converge quickly enough because of the 20 percent premium
that is given to the selected parent. What is the purpose of the premium? 

A. It speeds up convergence. 

B. It uses SNR, regardless of the premium. 

C. It prevents link flapping. 

D. It creates a list of other potential parents. 

Correct Answer: B 

Reference:
https://www.cisco.com/c/en/us/td/docs/wireless/technology/mesh/8-3/b_mesh_83/Site_Preparation_and_Planning.html 

 

QUESTION 3

What is the maximum number of AP groups a Cisco 5520 controller can support? 

A. 500 

B. 1000 

C. 1500 

D. 6000 



Correct Answer: C 

 

QUESTION 4

A customer requires that an SSID is broadcasted to specific access points that use certain interfaces. Which feature can
be used to achieve this goal? 

A. mobility groups 

B. flex-connect groups 

C. interface groups 

D. AP groups 

Correct Answer: C 

 

QUESTION 5

An engineer would like to capture NetFlow data on PI. Which resource is required to allow this? 

A. Cisco MSE as NetFlow exporter 

B. Prime Infrastructure 1.0 or later 

C. Cisco NAC as NetFlow exporter 

D. Cisco ISE as NetFlow exporter 

Correct Answer: D 

 

QUESTION 6

Refer to the exhibit. 



What two items need to be supported on the VoWLAN phones in order to take full advantage of this WLAN
configuration? (Choose two.) 

A. APSD 

B. 802.11a 

C. 802.11e 

D. WMM 

E. 802.11r 

F. SIFS 

Correct Answer: CD 

 

QUESTION 7

An engineer enters the config wlan max-radio-clients 15 10 command on the WLC that houses all auditorium APs.
Which configuration is being implemented? 

A. Maximum and minimum client limit to 15 and 10 

B. Maximum clients to 15 for all radios on WLAN ID 10 

C. Maximum clients to 10 for all radios on WLAN id 15 

D. Maximum clients allowed on WLAN IDs 15 and 10 

Correct Answer: B 



 

QUESTION 8

Refer to the exhibit. 

During deployment, a network engineer notices that voice traffic is not being tagged correctly as it traverses the
network. Which COS to DSCP map must be modified to ensure that voice traffic is treated properly? 

A. COS of 5 to DSCP 46 

B. COS of 7 to DSCP 48 

C. COS of 6 to DSCP 46 

D. COS of 3 to DSCP of 26 

Correct Answer: A 

 

QUESTION 9

An engineer wants to configure WebEx to adjust the precedence and override the QoS profile on the WLAN. Which
configuration is needed to complete this task? 

A. Change the AVC application WebEx-app-sharing to mark 

B. Create an ACL for WebEx. 

C. Change the WLAN reserved bandwidth for WebEx. 

D. Create an AVC profile for WebEx marked with a lower DSCP value 

Correct Answer: A 

References: http://www.cisco.com/c/en/us/td/docs/wireless/controller/technotes/7-5/AVC_dg7point5.html 

 

QUESTION 10

Which three fields are required when creating a new NetFlow Exporter? (Choose three.) 

A. IP address 

B. AP group 



C. WLAN ID 

D. port number 

E. SSID 

F. exporter name 

Correct Answer: ADF 

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/fnetflow/configuration/15-mt/fnf-15-mt-book/cfg-de-fnflow-
exprts.html 

 

QUESTION 11

A FlexConnect remote office deployment is using five 2702i APs indoors and two 1532i APs outdoors. When a code
upgrade is performed and FlexConnect Smart AP Image Upgrade is leveraged, but no FlexConnect Master A has been
configured. How many image transfers between the WLC and APs will occur? 

A. 7 

B. 1 

C. 5 

D. 2 

Correct Answer: D 

 

QUESTION 12

A customer requires wireless traffic from the branch to be routed through the firewall at corporate headquarters. There is
a RADIUS server in each branch location. Which FlexConnect state should be used in this scenario? 

A. local authentication and local switching 

B. local authentication and central switching 

C. central authentication and central switching 

D. central authentication and local switching 

Correct Answer: C 

http://www.cisco.com/c/en/us/td/docs/wireless/controller/7-2/configuration/guide/cg/cg_flexconnect.html 
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